Non-linearity of bubble flow

e experimental framework:
— dry and adiabatic atmosphere, fully characterized by state vector
X — (p707u7v7w>

— stationary background state X (resting, neutrally stratified with
0 = 300 K)

— bubble shaped perturbation in initial 6 field

— no initial perturbation in pressure and velocity fields

e in linear regime, doubling of initial perturbation X'(tg) doubles the
response X'(t)

e animation shows that this is not the case for bubble flow, as soon
as longer evolution times are concerned
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